ORoco—| Ersatzteiliste

Replacement Parts sneB Typ101 43579

{(l’\) _/{_"“('a e

L3 ¢ >
Bs Text Ar-Nr, ‘EE
1 Motor 85009 | 57
Motor
2 | Stromabnehmer 85268 |29
Pantograph
3 Zylinderkoptschraube M 2x4 85670 2
Cheese headed screw M 2x4
4 Zylinderkopfschraube M 2x14 B5677 2
Cheese headed screw M 2x14
5 | Selbstsch.-Schraube M 2,2x6.5 85800 2
Screw M 2,2x6,5
6 | Druckleder 86205 2
Compression spring
7 Platine komplett 87681 40
Printed circuit assembily
B | Isolator 88101 2
Insulator
9 | Umschaltkontakt 89711 6
Switch contact
10 | Schaltbolzen 89714 6
Switch pin
11 | Oberleitungsverbinder 89775 3
Overhead current supply connector
12 | Diode 89890 8
Diode
13 | Grundrahmen 93112 | 30
Main frame
14 | Glihlampe 93521 | 10
Light bulb
15 Blitzschutzgeréat 97788 2
Lightning protective system
16 Dachaulsatz 97918 6
Push-in part for roof
l[.ll‘ﬂ ' . 17 Inneneinrichiung mit Kontakt 97789 12
1 9 Interior layouts with contact
18 18 | Gehause komplett 97919 | 68
Betr. Nr. 101.012
Body assembly
Betr. No. 101.012
19 | Fenslersatz 100064 | 20
Glazing set
&
Anderungen vorbehallen Ausgabe 02/05 Blaft 3471

Best Nr 84957 W resesrver e oghi fey ensahe chianges Ertetucrn 92 05 Page 3471



